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Name
Unit 4 - Writing Linear Equations PRACTICE TEST!

Type 1: Find two Missing Numbers G =
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' Type 4: Shape Problems

(4) Rectangles:The length of a recTanguIar gar‘den is 3 Iess Than Twuce n‘s wndfh If The
perimeter of the garden is 84 inches, find the dimensions of the garden.
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(5)  Triangles: The length of the second side of a triangle is 2 incheq less thah the length
of the first side. The length of the third side is 12 inches inore than the length of the
first side. Theof the triangle is 40 inches. Find the length of each side of
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Type 5: Averages

(6) Kat has a score of 74 for' each of hlS flrsT ‘rhr‘ee science qunzzes The score on her
fourth quiz is a 92. What does she need on the fifth quiz to have an 80% average?
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Three friends have ages that are consecutive integers. If their ages have a sum of 39 years, how old
is each friend?




